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PART - 111

o fAweo / BIOLOGY
(s wHmid @ mdle eufl / Tamil & English Version )

&Te jera : 3.00 wanfl Cryw | [ Qurggs wHlCueamger : 70
Time Allowed : 3.00 Hours | [Maximum Marks : 70

SADejenrsst : (1) oarsg elammssenn sflurs ueurd o drersm eramugme sMLTTSESS
Qamerereyd. FsUILSeND GanulmLnder sens saaranfliiumenflib
o Lanquingsd GQgflelssa.
(2 Beod ey smUY owloear wLILEGCL  aWFHUSHEGD
g &CHTHeugHGh LweTuBSs CouamHd. LULRBSGEH cuaFeusSn (S
Quendledr LwemLHFS6LD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,

inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

GOy : G-I (2.u9f-greuredlud), uGS-II (2udf-cfondud) salgsel oL gsrafld
elen_weflGEeyLD.

Note : Candidate should answer Part-I (Bio-Botany) & Part-II (Bio-Zoology) in separate answer-
books.

@S - I (2-ulf-greurelilwed) / PART - I (BIO-BOTANY)
(oG LesTassT : 35) / (Marks : 35)
19fey - 1/SECTION -1
GOILY : (i) emensg) eNamssErsEh el weldsa. 8x1=8
(i) Qar@asiu@darer mrem@ WLWrHM el saller Wsab FHymLW
oflen_cnwig CoibosHEgs GHUILGLe elen uQenamuyd Gsirés) eTpseyb.
Note : (i)  Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer,
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1. SpsamLeubmier 6Tg Uld &pHélwde ?

(<=1) enpLrmen SLpHél (<=1) urevurey &oMHE)
(@) Four &pHél (F) sTOSlwbd &pHE]
Which of the following is not a sedimentary cycle ?
(a) Nitrogen cycle (b) Phosphorous cycle
(c) Sulphur cycle (d) Calcium cycle
2. SaDml - w@EpseT LoCGeum UHMCHMUEmar eTEli&ESDg).
-5nu6wn.b : LogpEafled GGG eTamD &g &edlClL e 2 eTaTg).

(=) smpdmy &fl, sMrewiD eum)

(=) Sadmy Heum, Snyewd &f

(@) Sammy, sMrewId @raHid &l

(F) &mpml, SMrewTd GranHin Seun

Assertion : Turmeric fights various kinds of cancer.

Reason  : Curcumin is an anti-oxidant present in turmeric.
(@) Assertion is correct, Reason is wrong

(b) Assertion is wrong, Reason is correct

(c) Both are correct

(d) Both are wrong

3.  oa() sLESID H& sTamiLBeug)

(1) Gllan GageameTiLEH (<2}) LETHSS GPTL Heurr
(@) Gosshar GUsspad () GIOD

Transmitting tissue is found in :

(@) Micropylar region of ovule (b) Pollen tube wall

(c) Stylar region of gynoecium (d) Integument
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Gerer yppIGprenw iflafEEn flapey erps aualoar e eury @Gmmey STT@TLONS
THUGSDS ?
(=) SiwCuwraiwr (<zp,) BECse
(@) oplrav < &amaenl () @Gamer

Depletion of which gas in the atmosphere can lead to an increased incidence of Skin
Cancer ?

(a) Ammonia () Methane
() Nitrous oxide (d) Ozone

Gl wruan 2 oL ws Garglew :

(<) Lmed 1 (<) SCGLMALT 1 (@) Gorflen 10 () GQuedlr 2
Dwarfing gene of wheat is :
(a) Pall (b) Atomita 1 (©) Norin 10 (d) Pelita 2

R, SIS DD Gy (LI :

(=) <pm Caupul L wrugys GFTamswid

(=) epenm Geumil L UG SIS TESWSHET M HHOST
(@) eperm GCeumiit wyLgmEOsTamswser Qran®h Bas6T
() @ wrugnsAsTmaLSSlen L B&HESET

An allohexaploidy contains : :

(a) Six different genomes

(b) Six copies of three different genomes

(c) Two copies of three different genomes

(d) Six copies of one genome

SipbaenL. cTfbg Wemonflen £ grouhisEné@y Lwau@GEpg ?

(<) yoRuSiciy B (=1,) Caulufuwich Qenemriin) Bir
(8) maenp Hi . (rF) mrLUg Bir

In soil water available for plants is : ‘

(a) gravitational water (b) chemically bound water
(c) capillary water (d) hygrosgopic water
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ST Hacueriinded LAIMNIRI( L3 ATNY sryeiwnsls Lwer®ssuubeug)

(1) HaCamgails e (<o) Garumaev @Garmeny(h
(@) EDTA (/7)) eiBITT

Solidifying agent used in plant tissue culture is :

(@)  Nicotinic acid (b) Cobaltous chloride

(c) EDTA (d) Agar

191fley - 2/ SECTION - 2

GOy : Spssrembd efemmésafld gGaeIb w6t eNamés@hsE eSenL_weflssayd. 4x2=8

Note : Answer any four of the following questions.

.

10.

11.

120

13.

14.

Cureadll uph Am GO eueTs.

Write short note on pollen kitt.

seumsers’ QummeTu@BLD, GUITEHEETTSSTS sHd wrppsHnE QPeLCuiwrer
Geaumumr(p eremest ?

What is the difference between missense and nonsense mutation ?

2 WiAeufSHHESD ereanmTed eremen ?

What is bioremediation ?
saflé@eT Namgpmarsse DT eTarar ? Q& THES STEUT UMESATD

srentiu(h&ma ? _
What is vivipary ? Name a plant group which exhibits vivipary.

2 W9 mHE. sreur LHEg — Cupubsss.

Differentiate - bio-medicines and botanical medicines.

sol9er affwid — @HULY cuenrs.

Write a note on heterosis.
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Wfley - 3/ SECTION - 3

&Y : Epssremid clamssaiad aCseib epeI) eflenssEnéE el weflésey.
eflenm eredr 19 -8 sL_Lmuwns efewaléseyb. 3x3=9

Note : Answer any three of the following questions. Question No. 19 is compulsory.

15. B upprEGED Sireveu < Cardlgs g paremwsmen eflardsaib.

Suggest a solution to water crisis and explain its advantages.

16. wallgamed o GaurssiulL gralusHear QU T(WPEI&. Q& eTeueumm
2 HeurssLLBEng ?

Mention the name of man-made cereal.. How it is formed ?

17. pBR322 erenib eumigenguflefmpg) B iMibgié Qarateus) eraer ?

What do you know about the word pBR322 ?

18. Geuliu SIBESMLOE CTEMTED) CTENa ? SIFET CUMSESMETEH GRS

What is thermal stratification ? Mention their types.

19. Gurgeurs wellgaflar Qewudur@sdr G wETLFANE erdyraCeu 2 GTETS, (T

remreuats § @ iamL o urgsTIAnE ereueummy 2. Faeumi ?

Generally human activities are ag

ainst to the ecosystem, where as a student, how will you
help to protect ecosystem ?
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Yifley - 4/ SECTION -4
GO : Siemensgl cllammssEnsEh oL weailése,b. 2x5=10

Note : Answer all the questions.

20. (=) smeyprésed Lpdl effleurar AsTGLILY SBS. DB (P&ElLSSIaULD Dl GHILL
Cairés.

360608
(=) @G weonsseaa ThssisaT HLer afeaflsseab.
(a) Give a detailed account on parthenocarpy. Add a note on its significance.
OR

(b) Describe dominant epistasis with an example.

21. (=) 2090 Qsmfe mLuefluedler LwerLThEamens GHUABS..
360605

() e ar @6 GariLgdpsrar Qupens y&flaaredleaw 6fi g g)drer
srisdsemer) LweL(sS ereueumy gurmuumi ?

(a) Mention the applications of Biotechnology.

OR

(b) How will you prepare an organic pesticide for your home garden with the vegetables
available from your kitchen ?
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LGSl - 11 (-uiifl - efeomiflwied) / PART - II (BIO - ZOOLOGY)
(HLCluessraen : 35) / (MARKS : 35)
ifley - 1/ SECTION -1
GSOIUY : () Sevenss Namss@EssEh ellawallésaib. 8x1=8

(i) GQasr@ssuul@erer mrem@ wWrHMH el sefled WsaD gHLmLW
MevLemws Csiboshsssd UL e ulmaryw GCersgl
CT(HSHALD.
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.

1. QapiCes wpmbd Gsav HCWrT LrseACur.Cuged Celia) Wie aTmars
sT_(pdog ? :

(=1) yrsd urseflu QeodQIE@EeT B@WEDS

(<=4 g-eTen.er @ WwryUGummeT

(@) g.ereng-ailed sHANLSSS SO EHSHD 2 6TaTg)
(FF) eneUIGV&ET 2 (FLOTHMLD <SHeML-W|LD

Hershey and Chase experiment with bactériophage showed that :
(a) Protein gets into the bacterial cells

(b) DNA is the genetic material

(c) DNA contains radioactive sulphur

(d) Viruses undergo transformation

2. uallyes addmbs QupLLBADS ?

(=) yevs (<) epBua
(&) (=) wppid (<) () (21) L@
'SMOG' is derived from :

(a) Smoke (b) Fog

() Both (a) and (b) (d) Only (a)
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“QgmPpsrere Queralamssn” e Hape Spssar agmen elas@spg ?
(=) Qupensd Caitey

(<) gnevrtul L HefdrpHod

(@) QeQumsss saflewliu@ssSo

() yealWwe saflewluBEgse

The phenomenon of "Industrial Melanism" demonstrates :

(a) Natural Selection

(b) Induced Mutation

(©) Reproductive Isolation

(d) Geographical Isolation

4. @m smSsOL LIsHar T QFd CGeuallliienL ereueurm sE&HDS ?
(<21) S BretdHed ey gHUBHSHSD (LpeLD
(<) FSH whmid LH anriGurearser srsgene $HULSE peld
(@) FSH wpmid LH anriGorenser srssame giemhiauget epeLd
() Sigm_ Qs eflHulLeyLer AFmar oL angwns Sifisg ellReauger epetd
A contraceptive pill prevents ovulation by :
(a) blocking fallopian tube
(b) inhibiting release of FSH and ’i.H.
(c) stimulating release of FSH and LH.

(d) causing immediate degeneration of released ovum.

5.  menaffadimba s Bmaw pamb eleondambedr craarm Hmpssiiu@damer ?
(21) vieCanm@giine () wWilQgioe
(&) slLmiymoen (rF)  <D@UILImoeL

Animals that can move from fresh waler to sea called as _

(a) Stenothermal (b)  Eurythermal

() Catadromous (d) Anadromous
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6. Hoara..QuaLi Harl Grrbd GCrrGurGern GsTEUL QUMTLILLD Greueumm

auensULMSSLLL (heTerg ?

(=) XYY (<) XO (@) XXX (FF) XXY

Klinefelter's syndrome is characterised by a karyotype of :

(@ XYY (b) XO () XXX (d) XXY
7.  erllen eauredler srewtuL(heugl :

(1) @hen @enp <yT.6reo.er (=) @l en @enL <iT.6Teo.er

(B) epeom Qe lq.6Te.ef () @rlerL @enp lg.6Teum.of

AIDS virus has .

(@) Single Stranded RNA (b) Double Stranded RNA

(c) Single Stranded DNA (d) Double Stranded DNA
8. wper Lme apriGuramer QLevGLTEDe TeT &T&EGLD QL1 :

(1) QarGLmell Qecraer (<) @il B Gadvaer (Leydig Cells)

(8) NpBzsGLo GmET G () yCrmrevGLL &rind

The male sex hormone testosterone is secreted from :

(@) Sertoli cells (b) Leydig cells

(¢) Epididymis (d) Prostrate gland

19fey - 2/ SECTION - 2

Gl : o@D BreE elamss@nsd WG ellenLwaflEsa|. 4x2=8
Note : Answer any four of the following questions.
9.

senell @enQUBESD erampred eraan ? aflwmi@sailalmbs Q@ arHEHEST_(HEeT
&(1H5.

What is parthenogenesis ? Give two examples from animals.

10. urdeilenan Crmiser ereuauryy LFe dlenpar ?

How are STDs transmitted ?

11.  pgeneno @Genw wHmD GNengshiGL QoW — Capusgis.

Differentiate - Leading strand and lagging strand.
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12.  wrugy LIPPUULL SR GSET TaTLaT Wreme ? THS5GGSTLH&ET HHS-

What are Transgenic animals ? Give examples.

13. Py Hlevew Apdlemhiser eramprey eremen ?

What are called endangered species ?

14. Wens 2 ewTQLL L LD GTEIMTE) GTeue ?

What is Eutrophication ?

\9fley - 3/ SECTION - 3
G&OILY : Epsrenib elamssaile sreneuGugib epen) efleaTésEnéE ellaLwaf&eab.
eflarm erafr 19 -&@ sLLmuwns alleLwefl&Esa|n. 3x3=9

Note : Answer any three of the following questions. Question No. 19 is compulsory.

15. @ed uflewrmow wHmb aflfl Lfewrmo 'r_ﬂa;%p&élasemm geueumm a@g@aarn..@;sm
CaumuBhssis.

Differentiate between divergent evolution and convergent evolution with one example for

each.

16. dAgrwoluyp ugdsedled 2wW@flu ery 2husd Hoeowrsaller LweaTsamer
Ul iguwel (Hs.

List the advantages of biogas plants in rural areas.
17. Qsbsreyls LSSEID eTenmmed eremen ? Slouliys Ll iqguid swrfllngneren Crrésiiser
gCEeID @)TaTy e GT(LpS)Is.

What is "Red Data Book" ? Write any two purposes of preparation of Red list.

18. 2.1 & Qg wruay Ssams LHMIL Qe Cad wrugy fdsams — Gm@u@@gs

Differentiate between Somatic cell gene therapy and Germline cell gene therapy

19.  @CrrGwnGsmb Qsm@Ly euemrULSHen LILIGTE®ET GT(LSIS.
Write the applications of Karyotyping.
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Nfley - 4/ SECTION - 4
@PIOY : APESE Aemrssena@n efoLwaldsab

Note : Answer all the questions.

20. (=) wrgeflimd spHAuer LeGeum Hlenavsamer eflaré @s.
S| V60 G
(<) @mugmﬁ@@mnqcﬁm ADUMU FGHS LULSHIL 6 edlenéEs.
(@) Explain the various phases of the Menstrual Cycle.

OR
(b) Explain the structure of immunoglobulin with suitable diagram.

(=) aprig. - eSen@uitd swanur® (p2+2pq+q*=1) @ Qs sal L FHD mqﬁ]uf
swhene QHULIMS ereueuTm) eré@apg ? wrdw swfleawamwu UTESED
gGseIbd [HIen (S srreflsamerys L iquielBis.

TNV
(<) Hleveump » W flamsaie sramLBL gsauamblLsmar LLWSHs.

s ' . 2 2—.:1) explain that the Genetic
dv-Weinberg's expression (p~+2pq+q P ‘
(a) gov:ﬁgfiﬁizrmiintained 1%1 a Population ? List any four factors that can disturb the
qu 3 -
genetic equilibrium.

OR
(b) List the Adaptations seen in Terrestrial Animals.

-000-
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